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DISCLAIMER OF NEWTON’S CLASSICAL PHYSICS
Rostovtsev A.K.

Polytechnic college, Kamyshin, Russia

1. Newton's second law is in disaster – that’s an indisputable fact.
2. It’s supposed that after such a disaster all classical physics will knock galley-west with

all physicians who’s trying to defend it.
3. Physicians of all countries are caught into a trap and got the dilemma: either they ad-

mit Rostovtsev’s theory or they will be convicted for pseudo-science and deception of mankind.
4. All classical physics need to be revised and set on theoretical basis.


